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Skew Index Algorithm for Multi-disk Broadcast

MA Xiao-qin, YU Jian-giao
(College of Computer and Information Science, Southwest University, Chongqing 400715)

Abstract In mobile environment, multi-disk broadcast is one of the widely used schedule algorithm of data broadcast. Building index for the
broadcast data can make the mobile client monitor the channel selectively, and reduce energy consumption. But inserting too many indexes will
increase data access time. Aiming at this problem, this paper builds skew index for multi-disk broadcast, designs construction algorithm for index
tree and the index tree algorithm of broadcast data. Compared with Variant Fanout(VF) algorithm, skew index algorithm for multi-disk schedule
needs less access time and tuning time in average.
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